112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

1 NS: Pdst $8{-88GH0) 10 9 NS: #4818 BRIZEF(BAC) -18 16.68 : 3.32 | Total VP: 86.64 Rank:
EW: MiEIEY FiksfEEAC) 18 EW: 17K EHE(BRO) -1 IMP:| 36 15 4
— -
#9 85 4SE4 -620 Mean: 2SE3 140 9.0 1 |[#10 s A95 2NW2 -120 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 -620 -550 5DXN-3  -500 2.0 3 v KT962 2NW-1100 -50  3NE-1 100 40 1
+ KJT864 Dif: 0 NS:-2 4SE4 620 -20 5 + KQ8 Dif: -220 NS:-2 3DE-1 100 40 1
» QT8 IMP: 0 EW:2 5DXN-4  -800 -6.0 1 » Q8 IMP: -6 EW:-4 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~2 ~~ ~ yA7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW-150 Mean: 3CXN4 570 110 1 3NS7 720 Mean: 6SS6 1430 130 2
v9 3DXS-4 -800 -10  4HE-3 150 4.0 1 7NS-1-100 580 6NS6 1440 130 2
+ A8 Dif: 850 NS:2 4HXW-1 100 3.0 1 Dif: 820 NS:4 3NS7 720 40 1
& AQJ52 IMP: 13 EW:13 2SN2 110 3.0 1 IMP: 13 EW:12 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 » T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 4SW-1 100 Mean: 3HN3 140 40 1 # 14 & AT94 4HE-1 50 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1100 © 4SW-1 100 30 5 v KJ 4HW4 -420 -320  4HE-1 50 90 1
+ AK54 Dif: 0 NS:3 3sw3 140 -40 2 + Q8 Dif: 470 NS:9 3NE3 400 20 1
» 964 IMP: 0 EW:-3 2SW3 140  -40 1 & QT762 IMP: 10 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1HXS-1 -200 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2CN-1-50 Mean: 2SXE-1 200 50 1
v 9874 1DE3 -110 -120 1DE2 -90 1.0 1 v T2 2SXE-1200 © 2SE-1 100 30 1
¢ A74 Dif: -90 NS:-2 2SE2 110 00 1 T Dif: -250 NS:-2 2DW-1 100 3.0 1
& 965 IMP: -3 EW:0 2DE3 410 00 2 & 76543 IMP: -6 EW:-5 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

2 NS: Fast EUREEGHO) -21 10 NS: E375E sRB&H(EAC) 13 2.69 17.31| Total VP: 61.17 Rank:
EW: B2 52 EIC0) -13 EW: Z3}#% ZBI15(BAO) 21 IMP:| 7 03 8
I -
#9 85 5DXN-3 -500 Mean: 2SE3 140 9.0 1 |[#10 s A95 2NW2 -120 Mean: 2NE-2 200 6.0 1
v Q2 5DXN-3 -500 -550 5DXN-3  -500 2.0 3 v KT962 2NW-1100 -50  3NE-1 100 40 1
+ KJT864 Dif: 0 NS:2 4SE4 620 -20 5 + KQ8 Dif: -220 NS:-2 3DE-1 100 40 1
» QT8 IMP: 0 EW:-2 5DXN-4  -800 -6.0 1 » Q8 IMP: -6 EW:-4 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 &» K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~2 ~~ ~ yA7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW-150 Mean: 3CXN4 570 110 1 7NN-2 -200 Mean: 6SS6 1430 130 2
v9 2HW2 -110 -10  4HE-3 150 4.0 1 6NS6 1440 580  6NS6 1440 130 2
+ A8 Dif: 160 NS:2  4HXW-1 100 3.0 1 Dif: -1640 NS:-13 3NS7 720 40 1
& AQJ52 IMP: 4 EW:3 2SN2 110 3.0 1 IMP: -17 EW:-13 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 » T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 2SW3 -140 Mean: 3HN3 140 40 1 # 14 & AT94 4HE5 -450 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1100 © 4SW-1 100 30 5 v KJ 3NE3 -400 -320 4HE-1 50 90 1
+ AK54 Dif: -240 NS:-4 3SW3 140 -40 2 + Q8 Dif: -50 NS:-4 3NE3 400 20 1
» 964 IMP: -6 EW:-3 2SW3 140  -40 1 & QT762 IMP: -2 EW:2 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 & K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2SE2 -110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 3CN-1-50 Mean: 2SXE-1 200 50 1
v 9874 1DE3 -110 -120 1DE2 9 1.0 1 v T2 3CN-3-150 o0 2SE-1 100 30 1
¢ A74 Dif: 0 NS:0 2SE2 110 00 1 T Dif: 100 NS:-2 2DW-1 100 3.0 1
& 965 IMP: 0 EW:0 2DE3 410 00 2 & 76543 IMP: 3 EW:4 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

3 NS: FENER 2 ERZ(GHO) 22 5 NS: #tiRiE MER(BAC) -27 19.50 : 0.50 Total VP: 95.32 Rank:
EW: SI805 BEEEsEEAC) 27 EW: E€#E 2% (BO) -2 IMP:| 41 3 3
— -
#9 85 4SE4 -620 Mean: 2SE3 140 9.0 1 |[#10 s A95 3NE-1 100 Mean: 2NE-2 200 6.0 1
v Q2 5DXN-3 -500 -550 5DXN-3  -500 2.0 3 v KT962 2NW3 -150 -50  3NE-1 100 40 1
+ KJT864 Dif: -120 NS:-2 4SE4 620 -20 5 + KQ8 Dif: 250 NS:4 3DE-1 100 40 1
» QT8 IMP: -3 EW:-2 5DXN-4  -800 -6.0 1 » Q8 IMP: 6 EW:3 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~2 ~~ ~ yA7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4HE-3 150 Mean: 3CXN4 570 110 1 6SS6 1430 Mean: 6SS6 1430 130 2
v9 2SN-2-100 -10  4HE-3 150 4.0 1 7SS-1-100 580  6NS6 1440 130 2
+ A8 Dif: 250 NS:4  4HXW-1 100 3.0 1 Dif: 1530 NS:13 3NS7 720 40 1
& AQJ52 IMP: 6 EW:3 2SN2 110 3.0 1 IMP: 17 EW:12 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 4SW-1 100 Mean: 3HN3 140 40 1 # 14 & AT94 4HW4 -420 Mean: 4HW-1 50 9.0 1
v AT743 3SW3-140 © 4SW-1 100 30 5 v KJ 4HW4 -420 -320  4HE-1 50 90 1
+ AK54 Dif: 240 NS:3 3swW3 140 -40 2 + Q8 Dif: 0 NS:-3 3NE3 400 20 1
» 964 IMP: 6 EW:4 2SW3 140  -40 1 & QT762 IMP: 0 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2DE3 -110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 1NW-1 100 Mean: 2SXE-1 200 50 1
v 9874 1NE3 -150 -120 1DE2 9 1.0 1 v T2 3CN-2-100 o0 2SE-1 100 30 1
¢ A74 Dif: 40 NS:0 2SE2 110 00 1 T Dif: 200 NS:3 2DW-1 100 3.0 1
& 965 IMP: 1 EW:1 2DE3 410 00 2 & 76543 IMP: 5 EW:3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

4 NS: #r$5H {52 Eh(3HO) -23 7 NS: BRE# BREIR(BAC) 9 213 17.87| Total VP: 56.84 Rank:
EW: BEZER #5E3EAC) -9 EW: BAtE A S15155(BAO) 23 IMP:| 17 44 10
I -
#9 85 5DXN-4 -800 Mean: 2SE3 140 9.0 1 |[#10 s A95 3NW3 -600 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 -620 -550 5DXN-3  -500 2.0 3 v KT962 3DE3 -110 -50  3NE-1 100 40 1
+ KJT864 Dif: -180 NS:-6 4SE4 620 -20 5 + KQ8 Dif: -490 NS:-11 3DE-1 100 40 1
» QT8 IMP: -5 EW:2 5DXN-4  -800 -6.0 1 » Q8 IMP: -10 EW:2 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 &» K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HE3 -140 Mean: 3CXN4 570 110 1 7CS-1-100 Mean: 6SS6 1430 130 2
v9 4HXW-1100 -10  4HE-3 150 4.0 1 6NS6 1440 580  6NS6 1440 130 2
+ A8 Dif: -240 NS:-4 4HXW-1 100 3.0 1 Dif: -1540 NS:-12 3NS7 720 40 1
& AQJ52 IMP: -6 EW:-3 2SN2 110 3.0 1 IMP: -17 EW:-13 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 3HN3 140 Mean: 3HN3 140 40 1 # 14 & AT94 4HW-1 50 Mean: 4HW-1 50 9.0 1
v AT743 3SW3-140 0 4SW-1 100 30 5 v KJ 4HE4 -420 -320  4HE-1 50 90 1
+ AK54 Dif: 280 NS:4 3SwW3 140 -40 2 + Q8 Dif: 470 NS:9 3NE3 400 20 1
» 964 IMP: 7 EW:4 2SW3 140  -40 1 & QT762 IMP: 10 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 a5
W 3~~3~ W 3~4~4
# 15 » 543 2DE3 -110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2DW2 -90 Mean: 2SXE-1 200 50 1
v 9874 1NE1-90 -120 1DE2 -90 1.0 1 v T2 2DW-1100 o0 2SE-1 100 30 1
¢ A74 Dif: -20 NS:0 2SE2 110 00 1 T Dif: -190 NS:-3 2DW-1 100 3.0 1
& 965 IMP: -1 EW:-1 2DE3 410 00 2 & 76543 IMP: -5 EW:-3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

5 NS: #iEHE &R EEC) -27 3 NS: #lEH 52/~ (F0) 22 0.50 19.50 | Total VP: 97.24 Rank:
EW: E&RE M ZZZEH0) -22 EW: 8iil55 BREFR(BAC) 27 IMP:| 3 oM 2
o —
#9 85 4SE4 620 Mean: 2SE3 140 9.0 1 |[#10 s A95 3NE-1-100 Mean: 2NE-2 200 6.0 1
v Q2 5DXN-3 500 -550 5DXN-3  -500 2.0 3 v KT962 2NW3 150 -50  3NE-1 100 40 1
+ KJT864 Dif: 120 NS:2 4SE4 620 -20 5 + KQ8 Dif: -250 NS:-3 3DE-1 100 40 1
» QT8 IMP: 3 EW:2 5DXN-4  -800 -6.0 1 » Q8 IMP: -6 EW:-4 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~2 ~~ ~ yA7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 4HE-3 -150 Mean: 3CXN4 570 110 1 6SS6 -1430 Mean: 6SS6 1430 130 2
v9 2SN-2100 -10  4HE-3 150 4.0 1 7SS-1100 580  6NS6 1440 130 2
+ A8 Dif: -250 NS:-3  4HXW-1 100 3.0 1 Dif: -1530 NS:-12 3NS7 720 40 1
& AQJ52 IMP: -6 EW:-4 2SN2 110 3.0 1 IMP: -17 EW:-13 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 4SW-1-100 Mean: 3HN3 140 40 1 # 14 & AT94 4HW4 420 Mean: 4HW-1 50 9.0 1
v AT743 3SW3140 o0 4SW-1 100 30 5 v KJ 4HW4 420 -320  4HE-1 50 90 1
+ AK54 Dif: -240 NS:-4 3SW3 140 -40 2 + Q8 Dif: 0 NS:-3 3NE3 400 20 1
» 964 IMP: -6 EW:-3 2SW3 140  -40 1 & QT762 IMP: 0 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2DE3 110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 1NW-1 -100 Mean: 2SXE-1 200 50 1
v 9874 1NE3 150 -120 1DE2 -90 1.0 1 v T2 3CN-2100 © 2SE-1 100 30 1
¢ A74 Dif: -40 NS:-1 2SE2 110 00 1 T Dif: -200 NS:-3 2DW-1 100 3.0 1
& 965 IMP: -1 EW:0 2DE3 410 00 2 & 76543 IMP: -5 EW:-3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

6 NS: BREEEE J8 S (5H0) 8 8 NS: s EMAREAC) 17| 9.56 : 10.44( TotalVP:| 105.98 Rank:
EW: Si¢F ESEEIC) -17 EW: [RE3E €& (BAO) -8| IMP:| 26 27 1
— —
#9 85 2SE3 -140 Mean: 2SE3 140 9.0 1 |[#10 s A95 3DE-1 100 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 -620 -550 5DXN-3  -500 2.0 3 v KT962 2NE-2200 -50  3NE-1 100 40 1
+ KJT864 Dif: 480 NS:9 4SE4 620 -20 5 + KQ8 Dif: -100 NS:4 3DE-1 100 40 1
» QT8 IMP: 10 EW:2 5DXN-4  -800 -6.0 1 » Q8 IMP: -3 EW:-6 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3CXN4 570 Mean: 3CXN4 570 11.0 1 7SS-1 -100 Mean: 6SS6 1430 130 2
v9 2SN2110 -10  4HE-3 150 4.0 1 6SS6 1430 580  6NS6 1440 130 2
+ A8 Dif: 460 NS:11  4HXW-1 100 3.0 1 Dif: -1530 NS:-12 3NS7 720 40 1
& AQJ52 IMP: 10 EW:-3 2SN2 110 3.0 1 IMP: -17 EW:-13 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 » T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
BOVAN 2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 2SE3 -140 Mean: 3HN3 140 40 1 # 14 & AT94 4HE4 -420 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1100 © 4SW-1 100 30 5 v KJ 4HE4 -420 -320  4HE-1 50 90 1
+ AK54 Dif: -240 NS:-4 3SW3 140 -40 2 + Q8 Dif: 0 NS:-3 3NE3 400 20 1
» 964 IMP: -6 EW:-3 2SW3 140  -40 1 & QT762 IMP: 0 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ + J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1NE2 -120 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2SE-1 100 Mean: 2SXE-1 200 50 1
v 9874 1DE2-90 -120 1DE2 -90 1.0 1 v T2 2SN-3-150 © 2SE-1 100 30 1
¢ A74 Dif: -30 NS:0 2SE2 110 00 1 T Dif: 250 NS:3 2DW-1 100 3.0 1
& 965 IMP: -1 EW:-1 2DE3 410 00 2 & 76543 IMP: 6 EW:4 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v 6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 + J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

7 NS: BEssE BREIR(EHC) 9 4 NS: #53H AR EN(BO) -2 17.87 : 213 Total VP: 80.46 Rank:
EW: BEEith&r Sf28EF0) 23 EW: [RIERE F1ESR(BAC) -9 IMP:| 44 17 6
I -
#9 85 5DXN-4 800 Mean: 2SE3 140 9.0 1 |[#10 s A95 3NW3 600 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 620 -550 5DXN-3  -500 2.0 3 v KT962 3DE3110 -50  3NE-1 100 40 1
+ KJT864 Dif: 180 NS:-2 4SE4 620 -20 5 + KQ8 Dif: 490 NS:-2 3DE-1 100 40 1
» QT8 IMP: 5 EW:6 5DXN-4  -800 -6.0 1 » Q8 IMP: 10 EW:11 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HE3 140 Mean: 3CXN4 570 110 1 7CS-1100 Mean: 6SS6 1430 130 2
v9 4HXW-1-100 -10  4HE-3 150 4.0 1 6NS6 -1440 580  6NS6 1440 130 2
+ A8 Dif: 240 NS:3  4HXW-1 100 3.0 1 Dif: 1540 NS:13 3NS7 720 40 1
& AQJ52 IMP: 6 EW:4 2SN2 110 3.0 1 IMP: 17 EW:12 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 3HN3 -140 Mean: 3HN3 140 40 1 # 14 & AT94 4HW-1 -50 Mean: 4HW-1 50 9.0 1
v AT743 3SW3140 o0 4SW-1 100 30 5 v KJ 4HE4 420 -320 4HE-1 50 90 1
+ AK54 Dif: -280 NS:-4 3SW3 140 -40 2 + Q8 Dif: -470 NS:-3 3NE3 400 20 1
» 964 IMP: -7 EW:-4 2SW3 140  -40 1 & QT762 IMP: -10 EW:-9 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2DE3 110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2DW2 90 Mean: 2SXE-1 200 50 1
v 9874 1NE190 -120 1DE2 -90 1.0 1 v T2 2DW-1-100 o 2SE-1 100 30 1
¢ A74 Dif: 20 NS:1  2SE2 110 00 1 T Dif: 190 NS:3 2DW-1 100 3.0 1
& 965 IMP: 1 EW:0 2DE3 410 00 2 & 76543 IMP: 5 EW:3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

8 NS: SE4f4 Z51§HEEAC) 17 6 NS: BREEZE #in 2 (FH0) 8 10.44 : 9.56 Total VP: 84.71 Rank:
EW: B Z#55EI0) -8 EW: ZhiEi8 FEIE(BAC) 1 IMP:| 27 26 5
o —
#9 85 2SE3 140 Mean: 2SE3 140 9.0 1 |[#10 s A95 3DE-1-100 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 620 -550 5DXN-3  -500 2.0 3 v KT962 2NE-2 -200 -50  3NE-1 100 40 1
+ KJT864 Dif: -480 NS:-2 4SE4 620 -20 5 + KQ8 Dif: 100 NS:6 3DE-1 100 40 1
» QT8 IMP: -10 EW:-9 5DXN-4  -800 -6.0 1 » Q8 IMP: 3 EW:-4 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3CXN4 -570 Mean: 3CXN4 570 110 1 7SS-1 100 Mean: 6SS6 1430 130 2
v9 2SN2 -110 10  4HE-3 150 4.0 1 6SS6 -1430 580  6NS6 1440 130 2
+ A8 Dif: -460 NS:3  4HXW-1 100 3.0 1 Dif: 1530 NS:13 3NS7 720 40 1
& AQJ52 IMP: -10 EW:-11 2SN2 110 3.0 1 IMP: 17 EW:12 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 2SE3 140 Mean: 3HN3 140 40 1 # 14 & AT94 4HE4 420 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1-100 0 4SW-1 100 30 5 v KJ 4HE4 420 -320  4HE-1 50 90 1
+ AK54 Dif: 240 NS:3 3swW3 140 -40 2 + Q8 Dif: 0 NS:-3 3NE3 400 20 1
» 964 IMP: 6 EW:4 2SW3 140  -40 1 & QT762 IMP: 0 EW:3 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 1NE2 120 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2SE-1-100 Mean: 2SXE-1 200 50 1
v 9874 1DE290 -120 1DE2 9 1.0 1 v T2 2SN-3150 0 2SE-1 100 30 1
¢ A74 Dif: 30 NS:1  2SE2 110 00 1 T Dif: -250 NS:-4 2DW-1 100 3.0 1
& 965 IMP: 1 EW:0 2DE3 410 00 2 & 76543 IMP: -6 EW:-3 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

9 NS: #faR BEIZERERC) -18 1 NS: &R $B{ZH(FH0) 10| 3.32 16.68 | Total VP: 71.88 Rank:
EW: EIh78 EBEEI0) -10 EW: BREIE 3G (BAC) 1 IMP:| 15 36 7
o -
#9 85 4SE4 620 Mean: 2SE3 140 9.0 1 |[#10 s A95 2NW2 120 Mean: 2NE-2 200 6.0 1
v Q2 4SE4 620 -550 5DXN-3  -500 2.0 3 v KT962 2NW-1-100 -50  3NE-1 100 40 1
+ KJT864 Dif: 0 NS:-2 4SE4 620 -20 5 + KQ8 Dif: 220 NS:4 3DE-1 100 40 1
» QT8 IMP: 0 EW:2 5DXN-4  -800 -6.0 1 » Q8 IMP: 6 EW:2 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 » K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~2 ~~ ~ yA7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ #0952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW-1-50 Mean: 3CXN4 570 110 1 3NS7 -720 Mean: 6SS6 1430 130 2
v9 3DXS-4800 -10  4HE-3 150 4.0 1 7NS-1100 580  6NS6 1440 130 2
+ A8 Dif: -850 NS:-13  4HXW-1 100 3.0 1 Dif: -820 NS:-12 3NS7 720 40 1
& AQJ52 IMP: -13 EW:-2 2SN2 110 3.0 1 IMP: -13 EW:-4 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 4SW-1-100 Mean: 3HN3 140 40 1 # 14 & AT94 4HE-1 -50 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1-100 0 4SW-1 100 30 5 v KJ 4HW4 420 -320  4HE-1 50 90 1
+ AK54 Dif: 0 NS:3 3sw3 140 -40 2 + Q8 Dif: -470 NS:-3 3NE3 400 20 1
» 964 IMP: 0 EW:-3 2SW3 140  -40 1 & QT762 IMP: -10 EW:-9 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 » K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ »9865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 a5
W 3~~3~ W 3~4~4
# 15 » 543 1HXS-1 200 Mean: 1NE1 90 1.0 1 ||#16 & KT852 2CN-150 Mean: 2SXE-1 200 50 1
v 9874 1DE3 110 -120 1DE2 -90 1.0 1 v T2 2SXE-1-200 o 2SE-1 100 30 1
¢ A74 Dif: 90 NS:0 2SE2 110 00 1 T Dif: 250 NS:5 2DW-1 100 3.0 1
& 965 IMP: 3 EW:2 2DE3 410 00 2 & 76543 IMP: 6 EW:2 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 m vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




112& < & > FMEEHEHL 2RI

==> R8

#1: 6 BEYE(105.98) #2: 5 ﬁk’rﬁlﬁlé@? 24) #3: 3 F14(95.32)

1 O NS: 325 sREHEHC) 13 2 NS: #EEH 2ImEBIo) -2 17.31 2.69 Total VP: 58.76 Rank:
EW: =6 FarEiEE0) 21 EW: 8lfE& B3Ei5(BAC) 1 IMP:| 31 7 9
I -
#9 85 5DXN-3 500 Mean: 2SE3 140 9.0 1 |[#10 s A95 2NW2 120 Mean: 2NE-2 200 6.0 1
v Q2 5DXN-3 500 -550 5DXN-3  -500 2.0 3 v KT962 2NW-1-100 -50  3NE-1 100 40 1
+ KJT864 Dif: 0 NS:2 4SE4 620 -20 5 + KQ8 Dif: 220 NS:4 3DE-1 100 40 1
» QT8 IMP: 0 EW:-2 5DXN-4  -800 -6.0 1 » Q8 IMP: 6 EW:2 2NW-1 100 40 2
s T93 » AQJ764 s 43 » KQJ8 3DE3 410 220 1
v KJ96 v T8 v J874 _I_ v A5 2NW2 120 2.0 2
7 — + Q32 ¢ A732 ¢ T965 2NW3 150 -3.0 1
& AJ643 &» K7 & AK3 & J65 3NW3 -600 -11.0 1
VAN 4, K2 o ¢VABN 4 T762
N ~ 2~~~ ¢ A7543 N ~~~~~ v Q3
S ~2~~~ ¢A9%% S ~~~~~ J4
E 3~~4~ £952 E ~3~~2 &T9742
W 3~~4-~ W ~3~~2
# 11 & T9543 3HW-1-50 Mean: 3CXN4 570 110 1 7NN-2 200 Mean: 6SS6 1430 130 2
v9 2HW2 110 -10  4HE-3 150 4.0 1 6NS6 -1440 580  6NS6 1440 130 2
+ A8 Dif: -160 NS:-3  4HXW-1 100 3.0 1 Dif: 1640 NS:13 3NS7 720 40 1
& AQJ52 IMP: -4 EW:-2 2SN2 110 3.0 1 IMP: 17 EW:13 7SS-1 100 120 2
» K87 ~ AQJ6 3HW-1 50 20 2 ~ T9875 7NS-1 100 120 1
v QJT853 v 74 2SN-2 4100 -30 1 v QT8 7CS-1 100 120 1
¢ T96 + KQ54 2HW2 110 -3.0 1 + Q643 7NN-2 200 -13.0 1
&7 & KT6 3HE3 140 40 1 a8
®OVAN 4,2 3DXS-4 800 -13.0 1
N 4 ~ ~ ~ ~ ¢ AK62
S 3~~~ ~ ¢J732
E ~~11~ #9843
W ~~11~
#13 a7 2SW3 140 Mean: 3HN3 140 40 1 # 14 & AT94 4HES5 450 Mean: 4HW-1 50 9.0 1
v AT743 4SW-1-100 0 4SW-1 100 30 5 v KJ 3NE3 400 -320 4HE-1 50 90 1
+ AK54 Dif: 240 NS:3 3swW3 140 -40 2 + Q8 Dif: 50 NS:-2 3NE3 400 20 1
» 964 IMP: 6 EW:4 2SW3 140  -40 1 & QT762 IMP: 2 EW:4 4HW4 420 -3.0 3
» T9652 N » AQJ3 2SE3 140  -40 1 ||a 32 » KQJ 4HE4 420 -30 3
v J2 v KQ v A63 v Q9874 4HES -450 4.0 1
°T7 + * J932 + AK5  T74
& KQ82 » AJ5 & AJ943 & K8
oo VAN 4o K84 o ¢ VAN 4, 8765
N ~11~~ 99865 N ~~~~~ T52
S ~11~~ +Q86 S ~~~~~ o J9632
E 3~~3~ &T73 E 3~4~4 &5
W 3~~3~ W 3~4~4
# 15 » 543 2SE2 110 Mean: 1NE1 90 1.0 1 ||#16 & KT852 3CN-150 Mean: 2SXE-1 200 50 1
v 9874 1DE3 110 -120 1DE2 -90 1.0 1 v T2 3CN-3150 0 2SE-1 100 30 1
¢ A74 Dif: 0 NS:0 2SE2 110 00 1 T Dif: -100 NS:-4 2DW-1 100 3.0 1
& 965 IMP: 0 EW:0 2DE3 410 00 2 & 76543 IMP: -3 EW:2 1NW-1 100 30 1
& AT76 ~ 982 1NE2 120 00 1 ||sAJ ~ Q9643 3CN-1 50 20 1
v K652 vJ 1DE3 110 0.0 2 ||e KJ973 — v6 2CN-1 50 20 1
* QJ3 + K652 1NE3 150 1.0 1 ||e A753 * J964 3CN-2 100 -3.0 1
& KT » AJ743 1HXS-1 200 -20 1 ||s Q8 » KJ2 2DW2 90 3.0 1
F VAN oKQ o OVAN o7 3CN-3 150 -4.0 1
N ~~~~~ v AQT3 N 2 ~~~~ ¢ AQ854 2SN-3 150 40 1
S ~~~~~ + T98 S 2~~~~ ¢KQs2
E 33~31 Q82 E ~2~11 a&AT9
W 33~31 W ~2~11




